01.

02.

03.

The duration of the exam is 2 Hours.

wdten 31aféy 2 que B

Class-VIII (Code : 0)

The Question Booklet consists of 100 Questions, each of them is of 4 Marks. The maximum Marks are 400.

S ULte yfedet ¥ 100 U 2 doll Ucaidxb U2 4 316l 1 3 | I 3ie 400 &1

Subject wise division of 100 Questions are as follows : Science-20, Maths-20, Mat-20, English-20 & SST-20.
e 100 el T (W faaeul 32 TR 2 : fagi-20, a1frd-20, aderf-20, 3ialsil-20 3l A 3teeRM-20.

Candidates will be awarded 4 Marks for indicated correct response of each question.

TRAD U2 &I A2l 3% celiv U 4 316 UqH fohd) Siriol|

One mark will be deducted for incorrect response of each question.

Ield 3av Gl B ufd e 1 31c et SIRlom |

o] SCIENCE DOo

| 01 S/ i o5 TF =0 ¥ ToRdt &-

When an object undergoes acceleration
(1) Its speed always increases.

(2) It alwaysfalls towards the earth.
(3) Its velocity always increases.

(4) None of these

External forcesare:

(1) Always balanced.

(2) Never balanced.

(3) May or may not be balanced.

(4) None of these.

How many dynes areequal to 1 N ?
(1) 1068 (2 10*

(3) 10° 4 10°

Sharper knives cut fruits easily because :

(1) The area of contact is more
(2) The area of contact is less.
(3) It shines more

(4) None of these.

(1) TRt T =8 =gl 2

(2) T TAw YA w Wk e €
(3) THHT AT BHA W@l 2

(4) = § % T

02. @&l I o-

03.

(1) =¥en wgfea
(2) =+ o wfera & ©
(3) Gafera &1 ot wehar © o & ot

(4) = § % T

1N fFa SRA % 9O B © ?
(1) 10° (2)10*

3) 10° (4) 10°

04. IR = AEH T el Fd € FHifn -

(1) Huss =1 &5 erfees g ©
(2) HUF 1 & FH el 2
(3) 7€ SR =HfRen R T
(4) = § % T
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of area 2 m2. Then the pressure exerted on the table top : TSI S © S 36 29 9 gEr el Sl ©
is— |
(1) 25 Nnr? (2) 50 Nn? : (1) 25 Nn? (2) 50 Nn?

(3)10Nm2 (4) 100 N | (3)10Nm? (4)100 N
06. A force that opposes the motion of one surface diding | 06. =& =t St T wae & T W fraer &t 1fa w1 forry
over another iscalled : I W%,WHT% -
(1) Lubrication. (2) Ball bearing. | (1) To=mmE (2) sta s=afar
(3) Friction. (4) Polishing. I (3) =m (4) =m
07. The fibre made up by the chemical treatment of wood | 07. el & TR & @A ITER § a1 FEaR ©
pulp is |
(1) Rayon (2) Nylon I (1) &= (2) At
(3) Polyester (4) None of these. | (3) HifeTwet (4) T8 | =i T
08. A synthetic fibre which works like wool. | 08. ww fdifess wigar St 4 *I T@ FH @ 2|
(1) Nylon (2) Polyester I OERSE (2) wiferwEex
(3) Acrylic (4) PVC | (3) Tisrfcr (4) PVC
09. The raw materials used in making nylon | 09, et s & vgo €7 e F= T
(1) Wood pulp (2) Cellulose l (1) TRt It (2) Hefei
(3) Coal, water, air (4) All of these | (3) e, UM, A (4) A |t
10. All metals are solids except I 10. T o1 Siga weft oY 99 €
(1) Sodium (2) Calcium | (1) |ife=m (2) Hicerm
(3) Mercury (4) Gold | (3) T (4) Tz
11. Metal oxides are of nature I 1. o+ AfEES i ® 86 e
(1) Acidic (2) Basic | OER (2) s
(3) Nevtral (4) All of these I (3) 3Rl (4) 7 \sft
12. The metal which can be cut easily with a knife : 12. =7 9ig 59 = § T wE ST &
(1) Sodium and potassium | (1) Hifgzm i qrefem
(2) Barium and calcium I (2 3fm v Sfmm
(3) Sodium and mercury I (3) Hifgzm @i T
(4) Potassium and calcium. | (4) UM SR SHicwEm
13. The process of loosening and turning the soil is known : 13. el *I el wE S "G 1 AwA FEaw ©
as:
(1) Winnowing (2) Ploughing I (1) foEn (2) S[aE
(3) Harvesting (4) Threshing I (3) e (4) gfgm
14. Which type of irrigation is similar to rainfall? | 14. f&9 ywR &7 fo=r oo % | 2 2
(1) Moat (2) Sprinkler system I (1) =g (2) fog®mE Fomeh
(3) Rahat (4) Drip system : (3) T=a (4) fgu faen

PCP sikar Class : VIII/0

IIT-JEE | NEET | NTSE | OLYMPIADS | KVPY )



Which of the following is a rabi crop?

15, 15 S
(1) Rice (2) Mustard | OEER (2) st
(3) Soyabean (4) Maize | OKRE (4) 7w
16. Organic wastes can be decomposed to form ........ : 16. Sifaen =R i fasfed w0 .......... T ST HeRaT ©, S
which can sustainably enhance the nutrient content of | fazdt =1 o Gl el €9 W TE@1 R 2
the sail. |
(1) compost (2) cow dung I (1) @R (2) T T TR
(3) fertiliser (4) pesticide | (3)sd= (4) FrzTeH
17. The chemical substances rich in nutrients are called I 17. 99 d ¥ W T@ERE 798 Fead &
(1) fertiliser (2) weedicide | Q= )
(3) pesticides (4) herbicides | Q) (4) St T
18. The functiona unit of lifeis called I 18. Sfe = forareTs T Feand ©
(1) Cell (2) Egg I (1) =hifersht (2) &rvet
(3) Nucleus (4) None of these | (3) =5h (4) T ° +rE T
19. Chloroplast isfound in : 19. TR fHEd e S e
(1) Plant cell only | (1) Faa q_Y HifereR
(2) Animal cell only | (2 #aa 5 =i
(3) Both of these l (3) TR AR S I A
(4) None of these | (4) 79 ° +rE T
20. The control unit of cell is I 20. =i w1 fEEo TE
(1) Nucleus (2) Cell wall | (1) ®5F (2) wiferem f9fa
(3) Cytoplasm (4) All of these : (3) =if¥rrt 5= (4) ST |t
|
o®d marTHs )OO
|
21. The associative property is applicable to: | 21. = frm ) e 8-
(1) Addition and subtraction I (1) Sirg iR =2
(2) Multiplication and division | (2) om 3T o
(3) Addition and Multiplication | (3) siig i Tom
(4) Subtraction and Division I (4) =zrE AR §m
22. What should be subtracted from -1/3 to get -1? | 22. 19 %@ & Q-39 =1 se@ A1 =nfeu?
1) U3 ) -13 I s ) -13
3) 213 (4) -2/3 : 3) 213 (4) -2/3
23. The degree of the equation x2 — 2x + 1 = x2— 3 is | 23. FHHT X2—2x + 1 =x2— 3% o4 &
(M1 22 o1 22
30 (4 3. | 30 (4 3.
|
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2
Theroot of the equation =Y =5/12is

|
24, 2 I24. T %)'=5/127=mt@%
(1) 8/5 (2) 5/8 I (1) 8/5 (2) 5/8
3)5 48 TGE 48
25. If two angles are complementary and one angle is 10° | 25. &f &1 =il *ife 4k ¥ IR TH HI0T TR HI0T § 10°
greater than the other, then the smaller angle of the two : g ¥, °q B HO B
is |
(1) 40° (2) 50° I (1) 40° (2) 50°
(3) 90° (4) 180°, I (3) 90° (4) 180°,
26. How many diagonals does a triangle have ? | 26. faust o fore faerol = & 2
(1o 21 o 21
32 (4) 4. I 32 (4) 4.
27. The angle sum of a convex polygon with number of | 27. 7 JsTieti ot Sl SEYST & vl = A Bl &
sides 7is |
(1) 900° (2) 1080° : (1) 900° (2) 1080°
(3) 1440° (4) 720°. | (3)1440° (4) 720°.
28. Two adjacent angles of a quadrilateral measure 130° : 28. Tk =qYS & U A HI0N i W 130° A 40° 2| 9
and 40°. The sum of the remaining two angles is | T RN AN B
(1) 190° (2) 180° | (@ 190° (2) 180°
(3) 360° (4) 90° I (3) 360° (4) 90°
29. Thediagonals of a square are eachother | 29. @& of & fawol T T & g
(1) equal to I (1) SR
(2) unequal to I (2) e18HH
(3) perpendicular bisectors of | (3) ciaerd HAGHSTHR
(4) none of these | (4) 79 o *E T
30. How many sides does a heptagon have ? I 30. UH WWUS Fi fwat e Et € 2
12 (24 | (12 (24
(3)7 (4)5 L @7 (4)5
31. What will be the number of zeros in square of 400? : 31. 400% =t # S ® GEA = er?
(12 (23 I (12 (23
(3)4 @6 CE @6
32. Thevaueof 92— 1isequa to: | 32. 9 — 1% HH SR €
(1) 81 (2) 80 I (1) 81 (2) 80
(3) 79 (4) None I (3) 79 (4) =g =&l
33. The Pythagorean triplets whose smallest number is8: | 33. TN frer f@ent wa@ B wea 8¢
(1) 8,16 17 (2) 8,17, 18 | (s 1617 (2) 8,17, 18
(3) 8, 15, 17 (4) 8, 15, 16 : (3) 8, 15, 17 (4) 8, 15, 16
|
PCP sikar Class : VIII/0 IIT-JEE | NEET | NTSE | OLYMPIADS | KVPY 4



35.

36.

37.

38.

39.

Q5 (2) 10

(3) 15 (4) 20

Which of these numbers is not a cube number?
(1) 10000 (2) 343

(3) 64 (4) 729

The percentage of 2:5

(1) 20% (2) 50%

(3) 60% (4) 40%

If 50% of studentsaregood at science out of 20 students.
Then the number of students good at science is:

(1) 10 (2) 15

35 41

The price of a motorcycle was Rs. 34,000 last year. It
hasincreased by 20% this year. The price of motorcycle
now is:

(1) Rs. 36,000 (2) Rs. 38,800

(3) Rs. 40,800 (4) Rs. 32,000

Observe the following bar graph carefully and answer
the following questions:

<
>
»

— Scale: 1em =T 1000

U

On which item has the maximum expenditure been done?

Expenditure ——»

(in thousand rupees)

© = N W & OO

]

:

Xy

l

Recreation

Servant's
salary
Conveyance

a

(1)5 (2) 10
(3) 15 (4) 20
. T 9 A o e v Hed T8 B ?
(1) 10000 (2) 343
(3) 64 (4) 729
. 2: 5% gfaea
(1) 20% (2) 50%
(3) 60% (4) 40%
. A 20sE 9 | 50% B fomm o o= 21 a1 famm o
=3 BE F 9 B
(1) 10 (2) 15
(3)5 (4 11

. Troe 9t T diewdEiEa w5 SiEd Rs. 34,000 ot 39

e THE 20 WIH i GGl gE €l HISTEshel ®i
HHq T %:—

(1) Rs. 36,000 (2) Rs. 38,800

(3) Rs. 40,800 (4) Rs. 32,000

freAfefem a7 w1 aaE @ 2 IR e gl
® T Ji-

<
»

— Scale: 1 ecm =T 1000

Expenditure ——»

(in thousand rupees)

Fes | o |
Recreation

Xy

l

o = N W & 0O 0
Rent [

Servant's
salary
Conveyance

. Tt a8 W et = TR e ?

(1) Conveyance (2) Rent (1) = (2) Tt
(3) Fee (4) Servant's salary. (3) frggew (4) ST 1 B
40. Onwhich item has the minimum expenditture been done? | 40. e w8 T =7aw =/ o o1 2 2
(1) Servant'ssadlary  (2) Food (1) ST =1 B (2) HisH
(3) Rent (4) Conveyance. (3) fertmn (4) =
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4].

42.

46.

47.

PENDICU ?
(1) PENDICUL (2) PENDIC

PENDICU ?

o4 MAT D0
24, 60, 120, 210, ? I 41. 24, 60, 120, 210, ?
(1) 300 (2) 336 I (1) 300 (2) 336
(3) 420 (4) 525 I (3) 420 (4) 525
589654237, 89654237, 8965423, 965423, ? : 42. 589654237, 89654237, 8965423, 965423, ?
(1) 58965 (2) 65423 | (1) 58965 (2) 65423
(3) 89654 (4) 96542 I (3) 89654 (4) 96542
20, 20, 19, 16, 17, 13, 14, 11, ?, ? | 43. 20, 20, 19, 16, 17, 13, 14, 11, ?, ?
(1) 10, 10 (2) 10, 11 | (1) 10, 10 (2) 10, 11
(3) 13, 14 (4) 13, 16 I (3) 13, 14 (4) 13, 16
AJS, GPY, 2, SBK, YHQ | 44. AJS, GPY,?, SBK, YHQ
(1) DMV (2) MVE I (1) DMV (2) MVE
(3) OUA (4) Qz | (3) OUA (4) Qz
AYD, BVF, DRH, 2, KGL I 45. AYD, BVF, DRH, 2, KGL
(1) FMI (2) GMJ | (1) FMI (2) GMJ
(3) GLJ (4) HLK l (3) GLJ (4) HLK
PERPENDICULAR, ERPENDICULA, RPENDICUL, | 46. PERPENDICULAR, ERPENDICULA, RPENDICUL,
I
I
I
I

(3) ENDIC (4) ENDICU

In numbers 581 327 6 4, how many digits are |

I
such which are at the same distance from for the |

beginning as if arranged in descending order ? I
(2) Three (2) Two |
(3) One (4) None I
ABZYCDXWEFVUGHTSIJRQI
KLPOMN I
Observetheletter series and observe letter whichis I
at the central place of letters which is at 8" place |
from the left and at 13" place from right, find the |

I
serial number of that letter from left?

47.

(1) PENDICUL (2) PENDIC

(3) ENDIC (4) ENDICU
Ten581327647 (H T o € S gweTd o
T 30 W A oreEl % | et ©

() Three (2) Two

(3) One (4) None

ABZYCDXWEFVUGHTSIJRQ
KLPOMN

e T Al A W W IR e ® e T
TS aE W 89 T W SR T W 13§ W W, S5
AR F I¢ ¥ FHE 9§ FHF FqG HIAT 2

I
(1) 13 (2) 14 I (1) 13 (2) 14
(3) 16 (41 | (316 (41
I
I
I
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49. If thefollowing, four words arearranged in alphabetical | 49. aft fr=fafed & @ =R o=l &1 auigwn o =Hafed
fran ST, @ WY AR T W S|

order, which word will come third.
(1) False (2) Fool
(3) Follow (4) Faith
50. If x standsfor -, +~ standsfor +, + stands for ~ and -

(1) e ()7

(3) urer (4) fogam
50. af% x w1 @tef 2 -, -+ 1 @1ef €+, + w0 oref W A
stand for x, which one of the following equations is freferfem & 9 i @ g w1l e ?
correct ?
(1) 15-5+5%x20+10=6
(2) 8+10-3+5x6=8
(3) 6x2+3+12-3=15
(4) 3+7-5x10+3=10

(1) 15-5+5x20+10=6
(2) 8-10-3+5x6=8
(3) 6x2+3+12-3=15
(4) 3-7-5x10+3=10
51. ghdl 3R Hemel | 9 A | F | e giEd i
T AT S W& TR 2
3+5-2=4
(1) +and-, 2and 3 (2) + and-, 2and 5 (1) + #X-, 2and 3 (2) + 3R -, 2and 5
(3) +and-, 3and 5 (4) None of these (3) + 3fiT -, 3and 5 (4) =79 | =i T

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
51. Which oneof thefour interchangesin signsand numbers I
I

I

I

I

I

52. If A means-, B means =, C means + and D means x, l 52. afs At @1ef ® - Bl a9 @+, Cohl &1¢f + SiRD =l

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

would make the given equation correct ?
3+5-2=4

then oo ® el
15B3C24A12D2=" 15B3C24A12D2="
(1) 34 )2 (1) 34 )2
(3) 5/9 (4) None of these (3) 5/9 (4) =1E &t
53. If aiscoded as 3, b is coded as 5 than what will bethe | 53. @f% a®! 3% ®9 ¥ Fifed fFa1 <1 &, b 55 &Y
code for j. o wifed fwman ST 2, @1 j & forg e == 2
1) 23 2) 21 1) 23 ) 21
(3) 24 (4) 26 (3) 24 (4) 26

54. 4f¢ ww fafyea wie ¥ MICHAEL =1 JGBHBGO &%
w9 ¥ wifed fwa o €, @ 3§ HAMERICA & 36

54, If inacertain code MICHAEL is coded as JGBHBGO,
in this code AMERICA will be written as :

TR foren s
(1) XKDRJEC (2) XKDRKED (1) XKDRJEC (2) XKDRKED
(3) XKDRJED (4) XKERJED (3) XKDRJED (4) XKERJED
55. If CRICKETER is coded as DQJBLDUDS, PLAYER | 55. aff CRICKETER & DQJBLDUDS & ®4 H whifed
will be coded as: foan ST 2 9t PLAY ER 1 39 W #hifed faman S
(1) QMBZFA (2) OMZZDS (1) QMBZFA (2) OMZZDS
(3) QKBXFQ (4) QKBZDS (3) QKBXFQ (4) QKBZDS
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Directions: Each of the following questions contains U 9 vd® yoa o fewt
certain information regarding the movement of a person | & Ueh Miea Sl gidl 2l SH&RT 1 SZlFIW
from a certain point to his destination or relating to the | sz &Y 3T (1) to (4) § & @& fawew w fom
position of a group of persons. Sudy the information | G
carefully and tick the right option out of (1) to (4) |
56. A man walks 1 km towards East and then he turnsto | 56. W ereet 4d =1 @R 1 fFft =orn @ @ik fr o

South and walks 5 km. Again he turns to East and walks | w1 R He@ © R 5 R wor B R @ o

2 km, after this he turnsto Northand walks 9 km. Now, | 7 =1 iR g1 2 @ik 2 feft =@ & 5 9% @8

how far is he from his starting point? T A AN g1 € N 9 R wewn €1 o, 9 ST
o fog o fRadft W B 2
(1) 3 km (2) 4 km
(3) 5 km (4) 7 km
sifd 3fego &1 @R 25 Hiex Jem fR 3 ot o
3R gel R 20 Hix =eml ffe o oot o% @i et
25 TR =l = Tl JrE N gEr ok 15 HieX =
72 oRfs fog @ feadt g W € e few fxam

(1) 3 km (2) 4 km

(3) 5 km (4) 7 km
57. Amit walked 25 metres towards South. Then he turned | 57.

to hisleft and walked 20 metres. He then turned to his |

left and walked 25 metres. He turned to his right and |

walked 15 metres. At what distance is he from theI

starting point and in which direction? | o e 2
(1) 35 metres East (2) 35 metres North | (1) 3BHR @ (2) 35 HEX IW
(3) 40 metres East~ (4) 60 metres East : (3) 40 X o (4) 60 X o

58. From his house, Julia went 15 kms to the North. Then | 58. Sfen oo R | 15 fRt 3@ w8k = R a7

she turned West and covered 10 kms. Then, she turned |
South and covered 5 kms. Finally, turning to East, she |
covered 10 kms. In which direction is she from her |
house? |
(1) East (2) West |
(3) North (4) South :
Direction : Following questions consists of a pair of |

ufysm wI @R g iR 10 B fe oe SR
SR e oiR 5 s ¥ T # @R g
10wt =t 3 7@ &N S® o W ¥ fRw feam
722

(1) o (2) dfe=m

(3) W (4) feqo

Frder: Frrfefiaa wodt & erar wugE! o Tw g R,

letter-groupsthat have a certain relationship to each other, | farert stom ® wer Fifvem e &, 3aa ag TaoeT &
followed by four other pairs of letter-groups given as | &a T qui-wgel & 9r o= Wig fou 7y &) 5| g w6
alternatives. Select the pair in which the letter-groups are | =R ¢ fs/ad feu o g o @ 4R AYE 9UE &9

similarly related asin the given pair. |‘@r‘{iﬂ’1‘\%ﬁr‘%’l
59. CEH:IKN I 59. CEH:IKN
(1) ACD : FHJ (2) CDF: 1K | (1) ACD : FHJ (2) CDF: 1K
(3) EFH : KMN (4) OQT : UWZ | (3) EFH : KMN (4) OQT : UWZ
60. Which of thefollowing pairsisthe sameasAZ, EV, GT I 60. fr=ifafed & & % @1 Sigr AZ, EV, GT @ik DW =
and DW ? | HEEE?
(1) un (2) Wz I (1) un (2) Wz
(3) HS (4) BW I (3)HS (4) BW
I
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61.

62.

63.

65.

66.

67.

69.

70.

During peak hours, it take more than two hours.

(1) can (2) should

(3) shall (4) will

How  shedo that to us?

(1) would (2) must

(3) could (4) shall

If | get therequired assistance,| _ passthe examin
the first attempt.

(2) shall (2) can not

(3) might (4) could

The audience  settle before the doors are closed.
(1) can (2) shall

(3) might (4) must

By thetimeyoudeepl  my work.

(1) Will befinishing
(3) Was finishing
Tomorrow at 9 am you

(2) Will have finished
(4) Will finish
|essons.

(1) Have (2) Will have had
(3) Will have (4) Will be having
Yesterday | afantastic film.

(1) Will be watching (2) Was watching

(3) Have watched (4) Watched

Yesterday at 50'clockl

(1) Was watching a film (2) Watched a film

(3) Have watched a film (4) Were watching a film
"| am going out tonight.” Manisha said.

(1) Manisha said that she was going out tonight.
(2) Manisha said that she was going out that night.
(3) Manisha said she was going out that night.

(4) Manisha said that she will be going out that night.
The guard asked, “Who are you?

(1) The guard asked who he was.

(2) The guard asked me who he was.

(3) The guard asks me who he was.

(4) The guard asked who | was.

| 71.
I

I
I
I
I
: 72.
I

Ravi said, “ The concert ended yesterday.

(1) Ravi said that the concert had ended yesterday.

(2) Ravi said that the concert ended the day before.
(3) Ravi said that the concert had ended the previous day.
(4) Ravi said that the concert ended already.

She said, “ Bring a glass of water, please.

(1) She commands me to bring a glass of water.

(2) She requested me to bring a glass of water.

(3) She asked me to brought a glass of water.

(4) She ordered me to bring her a glass of water.
Findthe appropriate part of SPEECH in thefollowing

I

I

I

I

I

| sentences.

I 73. | was distressed to hear about his death.

| (1) Verb (2) Adjective

| (3) Adverb (4) Noun

| 74, That policeman is a friend of mine.

I (1) Adjective (2) Noun

| (3) Pronoun (4) Verb

| 75. | would prefer to spend the weekend at home rather
: than drive all the way to a beach resort.

| (1) Verb (2) Adverb

| (3) Adjective (4) Noun

| 76. A friend of mine has just invited meto Italy.
: (1) Conjunction (2) Preposition

| (3) Verb (4) Pronoun

| 77. ......... money has been wasted on the project.
I (1) Much (2) Many

| (3) Any (4) None

| 78. A teacher needs............ patience.

I (1) much (2) alot of

I (3) more (4) none

| 79. I couldn’t solve .......... problems

I (1) many (2) much

I (3) the few (4) none

| 80. Shedoesntearn..........ccocovvviiiineiennnnn,
| (1) much (2) many

: (3) the 4) a

Class : VIII/0
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81. How can we conserve resource I 81. B9 WEIYH w1 WE HH F GHd T
(1) alow illegal mining | (1) o9 T HT AT §
(2) invent new technologies | (2) 7TE TFAIRI 1 SRR T
(3) give resources time to get : (3) WHEIEAT R W I AT
(4) alow industries to demolish forests I (4) STRT T STl T HE ®T A AT
82. Which of the following is a famous bird sanctuary I 82. freferfem o o % Wk whig Tell ervEmReg @
(1) Kaziranga National Park | (1) FERM T ITH
(2) Tiger Park at Dudwa I (2) TeN H TATR UH
(3) Gir forest | Q) fr ==
(4) Bhartpur sanctuary | (4) O AT
83. Which is one of the depest gold mine of the world : 83. fova =i Wo® TEd WA W @H § ¥ TH wA-H 2?2
(1) Kolar (2) Jnaria I (1) FEr (2) =t
(3) Raniganj (4) Bikaner I (3) TS (4) ST
84. The Indian constitution was finally completed in | 84. ardtm wfaem ofqd: wa T gem ?
(1) November 1949 (2) Septemper 1946 l (1) THe2 1949 (2) fadet 1946
(3) December 1946 (4) August 1950 | (3) fea==x 1946 (4) 3T7T& 1950
85. The rights provided by constitution are called I 85. wfaum g wew SR wEe ©
(1) Government rights  (2) Optional right | (1) 9@ TR (2) SerfeTen AfuERR
(4) Economic rights ~ (4) Fundamental rights | (4) =Ttk AR (4) Tifern erfuepR
86. Who gave the order to firein Jallianwala Bagh . I 86. Siferiaren am W el = 1 oTew fore fa=n e
(1) General Dyer (2) Dr. Satyapal I (1) SV ERR (2) =i, T
(3) Dr. Saifuddin (4) None of these I (3) <. Twgd (4) 7 ° =+ 7 &
87. Name only union territory which has a High Courh of | 87. %ac 39 &g INgd 9391 T 919 Sd12¢ fSeht o191 T
its own I I=4 TIEeE €
(1) Pondicherry (2) New Delhi | (1) wife=rt (2) 72 feeett
(3) Chnadigarh (4) Daman & Diu | @)= (4) T iR F
88. History is about finding out how things were in the past I 88. e 7e wal o % SR | © o =iel ordia | e of
and how thing have............ | AR = HE A
(1) changed (2) started I (1) 95& T (2) & & T
(3) completed (4) evolved | (3) qof (4) fommfaa
89. Inwhichyear wastheDutch East IndiaCompany formed : 89. TF T IfeA HuAr w1 e fohd ad gam o
(1) 1752 (2) 1702 | (1752 (2) 1702
(3) 1682 (4) 1602 I (3) 1682 (4) 1602
|
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|
(1) Blue (2) Dye I (1) frem (2) =i
(3) From India (4) From England I (3) 9@ | (4) TeiT |
91. What do you mean by the term 'Slave' | 91 ‘T WS | o @ wHed §
(1) paid worker I (1) AR FHH=R
(2) person owned by someone else : (2) forelt @R = wafies N =t
(3) royal person | (3) vt =R
(4) none of these I (4) 79 o =+ 7T
92. The cultivators who practiset shifting cultivation were | 92. 3 Bt % ot FF o
(1) Khonds (2) Khanda I (1) @is (2) ©E
(3) Jhum (4) Mundas : (3) 7w (4) g
93. What do you mean by Sepoy | 93. THYET § 29 1 THE € ?
(1) tribals (2) peasant : (1) enfareh (2) feram
(3) soldier (4) none | (3) dfm (4) F T&Ef
94. Who was Gangadhar Rao | 94. wimer wa = & 2
(1) King of Banaras ~ (2) King of Jhansi I (1) SR & TS (2) Tt & T
(3) King of Mewar (4) None of these | (3) Harg ® TS (4) T8 @ =g Tef
95. Who was Mangal Pandey : 95. =i 9 "I e
(1) Soldier (2) Villager | (O (2) et
(3) King @) All | @ (4) g+
96. Which is the rarest diamond on this earth I 96. TH Ul W WEW AN € HE W ?
(1) Black Diamond (2) Blue Diamond | (1) =rem g (2) tem g
(3) Red Diamond (4) Green Diamond | @) am & (4) =0 &
97. Wheat is'Black Gold! : 97. ‘=% e FM B
(1) Coal (2) Mica | @) Fren (2) s
(3) Petrol (4) None I (3) w2 (4) =wE =&
98. What is democracy? | 98. ks ¥ © ?
(1) rule of people (2) rule of king () =it = are (2) TS T A
(3) rule of British (4) none of these : (3) TS =1 WA (4) T8 @ = Tef
99. How many nominated members are there in the Rajya | 99. wzafd g Teorgsn & forad TG T5&d B © 2
Sabha by the President :
12 (2)6 | 12 (2)6
38 (4) 12 I 3)8 (4) 12
100. When did Gangadhar Rao died? | 100.71MeR T 1 7o A g ?
(1) 1864 (2) 1845 I (1) 1864 (2) 1845
(3) 1834 (4) 1853 : (3) 1834 (4) 1853
|
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Sample Paper Answer Key : VIl (Code-0)

Que. | 1 2 3 4 5 6 7 8 9 (10| 11| 12|13 | 14| 15|16 |17 | 18| 19| 20

Ans. | 4 3 3 2 1 3 1 3 3 3 2 1 3 2 2 1 1 1 1 1

Que. |21 |22 | 23|24 | 25| 26 | 27 | 28 | 29 ( 30 | 31 ( 32 (33 (34 (35 (36|37 | 38| 39| 40

Ans. | 3 1 1 2 1 1 1 1 1 3 3 2 3 1 1 4 1 3 1 1

Que. (41 (42 (43 (44 (45 (46 |47 (48 (49 ([ 50 | 51 ( 52 ( 53 ( 54 ( 55 56 | 57 | 58 | 59 | 60

Ans. | 2 | 4 1 2 2 3| 4| 4 3 2 3| 4 2 3 3 3 1 3 (4] 3

Que. (61 | 62 | 63 |64 (65|66 |67 (68 (69|70 (71 (72(73(74(75(76(77 (78|79 | 80

Ans. | 1 3 3 4 4 3 4 1 2 1 3 2 1 3 4 3 1 2 1 1

Que. (81 (82|83 (84 (85(8 (87 (88|89 (90|91 |92|93 (9495|9697 | 98 | 99 |100

Ans. | 3 4 1
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